Instructors : Eng. Saheem Murshid

Section : (1, 2)

Question #1 / Fill the spaces:

(15 Marks) ‘{ \

2-...A3akC........is abanded form of chert.
3- Gray-wacke has.....&)as ). ... texture.

A- Greatest volume of metamorphic rock is produced by?\ﬁ‘L)m\?{
metamorphism.

5-A mc.a-t.lnt of run-off is._.g.é,.oaa.......Km3lyear.
6- ... CaleiXC........ is the mineral which hardness equals 3.
7- .....&)'.P.mm.)t\.. is the mineral which has malleable property.

8- As the size of the channel decrease then the ratio of (P/A) ..ane(e28C

9- The size of the pebble is ...... b M mm. | w?Ff
10- This rock notification [~ . _ refers to the rock called.w.. o
o o e e

...................................
PR

(e tenc
11- Most of the stream load is carried as....cconinreensee s 1020

12- oHEad. Galaghi)..maximum load a stream can carry.

13- The carrying out of fine material by Wator I8 called...... .\ \aader).. Process.
Y. U T (" R E 2 B HT 6ls. solid part of soil.
15- Asthe particle size increase, then rate of weathering....- delwASE
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Question #2 e -
Classify the following rocks and minerals:
| SEDIMENTARY
Rock or MINERAL u;neous METAMDRPHIC 4 B
2y (L, D, N) tfexturel-~ | (Tm"fe) etritus | Organic | NoT8
' e 1 % s A il
1.Phyllite r— 4 |

2.Muscovite | Da( A = Yeale

3.Gypsum :
i NoA (j'((!mk

e
4.Arkose

S.Marble ) ol MAM
nar J

£ 6.Diorite

7.Graywack

8.Quartz Ldm_ﬂ?ric l #

9.0bsidian
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Question #4
— (10 Marks)

a
) Explain how parent material control weathering?

Cause wmw(’\hs < f M'mc‘(}.( O - C.-rﬂPU'i;-\j H.e 50'1‘
7

oy O\, \
o A M SR 1{>o\\ Laties] © €rova a
C  Mesy WwPelMant facter W - gy
A Cehng X, ]

S\ ‘eorﬂdol. and A\V;M o 2~ { l,- 4

4) Hn.«l:r\-;r‘,.fg Lpeol%c\( 2 - f(c.\:)me_'“\-f, C._rﬂ;wj W s h. K€
MeaMae g Brocssses o 4 ™Mag 0f Rock -

')‘) UﬂCcnS‘o“olv"&J CJEP‘C’S'V\'@S s Soy \

Cons \oley

'Ti-u nS P"—'E Hd bj ("‘.QL::-‘. \r~

AYent Can \= Q allu v)ald ;. Cellovia\l , aesloewn Soy\ ) =
b) Explain how composition of the material affect mass wasting? '
Sowmas s\ePe’< Ceebosed  Crom Ca\lcalf\eous Roc"s  WO\cw

ﬁaﬂ(ﬂo&c‘/ a  We % e (o5 anAd Cavy Cﬂ“GP“—FC wnder e

‘mﬂdc.scc'. 45-- &\r\‘v\:wzj wokeS g W ‘\"P‘:—-‘*‘ .E.Lv'-\ froe

5‘\‘\L—-‘BQS &OCK- \Qh‘\t:\f\ C'-ovﬁ‘ll‘df a'd ‘/ef"j Sh!-’t

Al Sfpfm ﬂd (_‘,\9 Mv a f CecA e e ch\Pos; How Of Mass

WWen wWater o"\cf-g\vk VA anAd Cﬂr(:j M unc.J fom o mas)

c—ﬁu-ﬁw‘) Pores Rock Duch g€l w. ‘?r\q\".\?*‘j o f e
¢) Discus the suitability of chert as a construction material? e &3S

e et U5 G Vel) Sokd Reck  and xS as  Maw
= L

/ e Cher & mﬁ*’: e Uisdot a S ¢ \0as &€ ( €Ow\J_-J,o n]

Lécause ok exishw Sh, T R
Unf\dt(' laqpls . i
- W Consh fue Fown also Canns ¥ 1) c-pf Vecquse 87 \

i\ Camct bLeE @35“7 g\pt‘o\:ev\ '\wiko <ovra )l ficcef |
2) A€ Lok, awess  shwf cdaes :

‘5) ("\9 L (j&‘;‘,) M ¢$W|me?vd‘$ Mot wse e C-vls'l*fq:hcﬂi

“*“"C te No Se qum,'r q\gSaflﬂ L:;-'!

‘(,‘D > +.6 s
pPlrsof b &58 Scanned by CamScanner



Question (3) \/’_’/l,_’l

15Marks

Mach between those in column (1) with those in COI”M/T

3 COLUMN (1) COLUMN (2) |

_+1- Ripple mark ‘ _(_\?_Sgh_b_l;):ﬁfﬂ coal |
W/ |

_+/| 2. Unloading (1) tropical area |

= t *l'hpheroidal wﬂﬂ-—-/_J
3. Sub-soil

(y) peridotite

( ) C-horizon _ |
/| 4 Bauxite (1) single chain
'| [") water vapor
A 5- Conglomerate [ (4) Orthociase-
( )double chain
/[ 6 Feldspar contain k-ions (3) diamond —
( ) dryarea
7. Sorting { ) -darkehert—
K (5 ) well sorted
: f similarity in grain size
/8. Found as placer deposit (1) degree of similarity
V » w —— g = e .
- -r- S —— ...—--——-'—Q‘:-?wu_-_a- - i . e . -

I ( )contact metamorphism
1 9. Dolostone

——

({)wave sand on surface of sedimentary rock

| (72) onion like layers
10 Flint .
—'___—_._'_—._____ i _____‘I
PR rted
11. Volatile material {)\) poorly sorte |
77, Inclinatio in sedimentary rock () Diorite
7 of strata in sedi
Az ndination e
m_ () calcite
A P ik et
—( ' i . --?’“-".rﬁé_‘l_-‘—_‘: . -—3
(2) Oip | ‘

3
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